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FxkW) | (m*/s) (‘C) (C) (C)
! 1 0 W 22 24. 4 24.5 0.1
2 [ 10 g 25. 1 25. 2 0.1
3 1 0§ I 22 24, 9 25.0 0.1
4 || 108 [ 22 26. 0 26. 1 0.1
5 1 0 R I 22 25.5 25. 6 0.1
6 | 10K [ 22 26. 6 26. 7 0.1
7 1 1 0m I 22 24. 4 24. 6 0.2
8 | 1 0ORf I 22 26. 4 26. 5 0.1
9 | 10K I 22 25.5 25.3 0.0
10 1 0 ' I 22 26, 2 26. 3 0=l
11 1 om I 22 26. 3 26.3 0.0
12 | 1 0Bf ’ 22 27.0 27.1 0.1
13| 1 0B% I 22 26. 8 27.0 0.2
14 1 O , 22 26.9 27.0 0.1
15 1 O I 22 o0 27.2 0.1
16| 1 0 I 22 27.2 2103 0.1
17 1 o#f l 22 26. 6 26. 4 0.0
18 || 1 OBf I 22 25. 1 25. 4 0.3
19 1 oKF ’ 22 26. 3 26. 4 0.1
20 [ 1 OmF I 22 25.3 25. 0 0.0
21 [ 1 0m I 22 26.3 26.3 0.0
22 | 10/ I 22 26. 5 26. 5 0.0
23 || 1 oBf l 22 26. 8 26. 9 0. 1
24 | 1 0 I 22 26.3 26. 4 0.1
25| 1 O I 22 25.3 25.3 0.0
26 [ 1 0 I 22 21. 7 21.8 0.1
271 1 ORf ’ 22 22.9 23.0 0.1
28 1 omf I 22 3.8 23. 4 0.1
29 || 1 omf l 22 23.0 28: 1 0.1
30 || 1 oM 22 gg:0 23.1 0.1
31 [ 10 22 23. 4 23.5 0.1
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RS | HokE | BUKIKELEE | BoKIBEE | TELEE -5
B WA fii %
kW) | (m*/s) €C) (‘C) (‘C)
1 108 0 2. 4 24. 4 25. 6 i ¥ 1
2 | 10 0 2.4 o5, 1 25.2 0.1 ¥ 1
3 1 0K 0 2.4 24. 9 26. 2 L 1
4 | 10K 0 2.4 26. 0 26. 9 0.9 %1
5 | 10 0 2.4 25.5 27. 1 1.6 %1
6 | 10 0 2.4 26. 6 7.3 0.7 ¥1
7 10K 0 2:4 24. 4 26. 9 2.5 %1
8 || 10K 0 2.4 26. 4 27.5 11 ¥ 1
9 | 1 0mf 0 2. 4 25.5 26. 8 TeB %1
10 1 0l 0 2.4 26. 2 26. 6 0. 4 %1
11§ 108 0 2.4 26. 3 27.9 1.6 ¥ 1
12 | 1 O 0 g 27.0 28. 2 a2 %1
13 10K 0 2.4 26. 8 28.3 1.5 %1
14| 1 0Wf 0 2. 4 26.9 28. 2 1.3 %1
15| 1 OWf 0 2.4 971 27.8 0.7 %1
16 | 1 O 0 2.4 27.2 28.0 0.8 1
171 1 0K 0 2.4 26. 6 27.8 1:2 ®1
18 1 OWf 0 2.4 25. 1 27,3 9.2 1
19 1 0 0 2.4 26.3 2.3 1.0 %1
20| 1 oMW 0 2.4 25. 3 07..2 1.9 %1
21 [ 1 O 0 2.4 26.3 27.3 1.0 ¥ 1
22 | 1 0Kf 0 2.4 26.5 2% 0.6 ®1
23 | 1 OFf 0 2.4 26. 8 27.5 0.7 %1
24 [ 1 om 0 2.4 26. 3 27.3 1.0 %1
25| 1 O 0 2.4 25. 3 26.9 1.6 ¥ 1
26 | 1 OWf 0 2.4 21.7 98.1 1.4 1
27 1 ol 0 2.4 22.9 09 1 0.8 ¥ 1
28 | 1 ORf 0 2.4 93, 3 23.9 0.6 %1
29 | 1 OKf 0 2.4 23.0 24. 17 1.7 %1
30 | 10K 0 2.4 23.0 24.0 1.0 %1
31 1 0K 0 2.4 23. 4 24. 1 0.7 1
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B | BOKE | BUKIREE | Aok | TS E5-
B ® i #
(FkwW) | (m*/s) (‘C) §9) (‘C)
1 1 0 0 3 24. 4 25. 7 1.3 ¥ 1
2 [ 10K 0 3 25, 1 25.8 0.7 *1
3 | 1 oM 0 3 24. 9 26.8 1.9 1
4 | 1O 0 3 26. 0 27.0 1.0 %1
5 | 1 0K 0 3 25.5 27.4 1.9 %1
6 | 10K 0 3 26. 6 27.6 1.0 %1
7 | 10 0 3 24. 4 S 2.8 %1
8 1 0 0 3 26. 4 27.9 1.5 M1
9 | 10K 0 3 26.5 27,2 17 X1
10| 1 o 0 3 26. 2 26. 6 0.4 %1
11 1 oM 0 3 26. 3 27.4 Ll 1
12| 1 oW 0 3 27.0 28.5 1.5 1
13 1 O 0 3 26. 8 28.3 1.6 %1
14 | 1 OKf 0 3 26. 9 27.9 1.0 %1
15 1 OWf 0 3 97 1 27.9 0.8 %1
16 | 1 0N 0 3 27,2 28.3 Ll 1
171 1 om§ 0 3 26. 6 27.5 0.9 %1
18 1 O 0 3 25. 1 271 2.0 %1
19 1 oK 0 3 26. 3 27.6 1.3 1
20 | 1 Ok 0 3 25.3 26. 6 1,8 ¥ 1
211 1 0K 0 3 26. 3 26.5 0.2 %1
22 | 1 O 0 3 26.5 27.4 0.9 %1
23 1 omf 0 3 26. 8 2.7 0.9 %1
24 | 1 oM 0 3 26. 3 27.6 1.3 X1
25 | 1 O 0 3 25.3 26.9 1.6 1
26 [ 1 ORf 0 3 or.q 22. 4 0.7 ¥ 1
27 [ 1 omg 0 3 22.9 23.8 0.9 1
28 [ 1 o 0 3 93.3 24. 2 0.9 %1
29 1 ORf 0 3 23. 0 24. 6 1.6 1
30 1 O 0 3 23.0 24. 1 1zl %1
31| 1 0 0 3 23. 4 24.3 0.9 % 1
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